CHM152 Q3 25 Pts Fall2005  Name: K 9y
1. (8 Pts) At a high temperature, the following reaction has an equxhbrlum constant of 1.0 x 107
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If 1.00 mol of each of H, and F, are allowed to come to equilibrium in a 10.0 L vessel, calculate the equilibrium

Hy(g) + Fag) 2HF(g)
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2. (7 Pts) When 0.152 mol of solid PH;BCl; is introduced into a 3.0 L container at a certain tempe‘x%ture, 8.44 x 10™ mol
of PHj is present at equilibrium. Calculate X, at this temperature.
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3. (6 Pts) The equilibrium constant for the reaction of bromine with chlorine to form bromine monochloride is 58.0ata
certain temperature.
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What is the equilibrium constant for the following reaction? SHOW WORK
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4. (4 Pts) Write the expression for K and K|, for the reaction

PHBCL(s) =+ PHy(g) + BCly(g) K c = EF H 7@ @
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K= Gy, Py




